Volume of Composite Figures-Notes

Geometry 3313
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1) Mariana bought a new pencil like the one shown below on the left. She used the pencil every day in her
math class for a week, and now her pencil looks like the one shown below on the right. How much of

the pencil, in terms of volume, did she use?
Note: Figures are not drawn to scale
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Find the volume of each of the following composite figures.
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Find the volume of each of the following composite figures. Write the formulas you are using and show

all your work.
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